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OO00000000 O tobeginwithd , secondlyl] , besides(] ,
lastly] . OO for one thing[J , for anotherld , finallyI . O first[d
secondl] , thirdld ,moreoverl] . (2)U U0 DO OUOOOOOO
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[ to illustrate, an illustration/an example, for example/for instance,
particularly/in particular, suchas, likeJ O OO0 OO0 OO0 OO
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therefore, as a result, accordingly, consequently, contribute to, for
thisreason, lead to, resultin 0 OO0 OO0 O0OO0OOO0OOO
due to, because of, owing to, because, since, as, on account of, result
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0 O 0O WhyO ? For one thingd For anotherl] The answer to this
problem involves many factors.For one thingJ For another(] Still
anotherl] A number of factors, both physical and psychological
affectl] /both individual and social contribute tolJ The reasons for
this are as follows] We have good reason to believe thatld O [ [
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OO0 00O Another important factor ist1 [ is also responsible
for the change/problem. Certainly, thelJ is not the sole reason for[J
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[ O O Itwill produce a profound/farreaching effect/impact onl] It
Involves some serious consequence forld (4)U OO 0O OO OO O
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way, similar to, similarly , bothJ and[J , alike, neither(] nor(] , in
commonUO O 0O O0O0OOOOOOOOO O unlike, be different
from, differ from, on the other hand, in contrast, while, instead,
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00000000 The advantages gained from A are much
greater than the advantages we gain from B. Indeed, A carries much
more weight when compared with B. There is no doubt that it has its
negative effects as well as positive effects. Compared with A, BLI []
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A and B have several things in common.They are similar in thatll A
bears some striking resemblance(s)toB. (5) O 0O O O 0O O O O
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dividell intol] , to classify] intol] , to fall into, to distinguish [ . [J
Kinds, types, sorts, groups, categories [1 . [J according to, in terms
of, depending on, on the basis of [J . [I to sub-classify, to



sub-categorize, to sub-divide 0 J 100Test U 0 O O OO O OO
Oo000o000o0ooodod www.100test.com



